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Field: co2; Feed-feed variable: wind; Other splits: cesc 1
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Field: co2; Feed-feed variable: ambt; Other splits: cesc 1

)(_S Wlth TFﬁ/ter and TFSmooth

300000

ki [Mpc™t]

0.03-

0.03 0.1

k" [MpC_l]

03

- 100000 0.31
- 0
- —100000 (0.1 -

- —200000

—300000 0.03

0.03

0.1
ky [Mpc™]

1 ] 300000 1 ;- 300000 1

- 200000

0.3

- 200000
- 100000 0.3
- 0

-—-100000 (.1

- —200000

—300000 0.03

0.03

0.1
k" [MpC_l]

0.3

- 200000

- 100000

-0

- —100000

- —200000

—300000

? (Mpc)°]

~

Cy, (k) [uK



ki [Mpc™t]

0.03

0.03 0.1
/(" [MpC_l]

03

Field: co2; Feed-feed variable: ambt; Other splits: cesc O

le6

0.3 1

0.03

0.1
l(|| [MpC_l]

0.3

0.03

0.1
ky [Mpc™!]

XS with TFﬁ/ter and TFsmooth

0.3

2 (Mpc)3]

~

Cy, (k) [uK



